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D 4.9=+0.7 ® 21+0.3 ® 14.7+21
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56+08=56+8=7
D49+07=49+7=7
@21:03=21+3=7
@®14.7+21=147+21=7
@78+13=78+13=6
®126+18=126+18=7
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152.9 +13.9 = 1529 + 139 =11
245.88 +27.32 = 24588 + 2732 =9
152.9+13.9 > 245.88+-27.32
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10.56 = 26.4
@D 1056 + 264 @ 105.6 = 26.4 @1.056 +2.64
@ 10.56 + 2.64 ® 0.1056 + 2640
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48.76 + 9.2 = 487.6 + 92 = 5.3
891 +27=2891+27=233
o|B & 48.76 + 9.2 > 8.91 + 2.7 Yt}
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6. THeF Hol12HMTHE AL LT B2AQ.

(D) 66.88+3.52 2)2+0.16 3 42.14+4.3

@ 62.16=-8.4 ® 16.02=3

B

@ 66.88 + 3.52 = 6688 + 352 = 19

@ 2+0.16 =200 + 16 = 12.5

® 4214 +43=4214+43=98

@ 62.16 +8.4=0621.6-84="74

® 16.02+3=5.34
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g3 eAE AE 78 AL BE 1240 (F370)

D)24+19=1---15 @ 234+11=21---03
®)45+16=2---13 @31.6+3.7:8---0.2

® 9+0.35=25---0.25

®24+19=1---05
®45+16=2---13
@31.6+-37=8---2
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1.79 + 1.5 = 1.193--- — °F 1.19( 1f)
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1| 45 et 5t
8§=54---0.12
8% 5.4+ 0.12 = 20.64
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14.8 + 2 = 7.4(cm) O] 22

(7t2)= (7.4 + 1.6) + 2 = 4.5(cm)
(M=Z)=174-45 = 2.9(cm)
45+29=1551.-- o]BZ oF 1 558 T},




